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#include <iostream>
#include <sstream>
#include <iomanip>
#include <string>
#include <list>
using namespace std;
int const MAX=1024;//fRHREHRNFEK/D
int SIZE[MAX];//tip:#BiahiE Ne;
class subAreaNode
{
public:
int addr;// @bt
int end;//% bk
int size;// #FRK/A
string taskId;// fEM5
s
class NULLArea
{
public:
int ID;
int size;
int begin;
int end;
s
list<subAreaNode>s;
list<NULLArea>n;
bool comp_BestFit(const NULLArea &lhs, const NULLArea &rhs)
{
return lhs.size < rhs.size;
}
bool comp_WorstFit (const NULLArea &lhs, const NULLArea &rhs)

{

return lhs.size > rhs.size;
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int Fitcount = 1;
string Fitstring = "Fit";
void cleansize ()
{
for (int i = @; i < MAX; i++)
SIZE[i] =0;
}
subAreaNode setsize(int addr, int size,string taskId)
{
subAreaNode a;
for (int i = addr; i < size+addr; i++)
{
SIZE[i] = 1;

}

a.addr = addr;

a.size = size;

a.taskId = taskId;

a.end = addr + size - 1;

return a;

}
NULLArea setNULLarea (int begin, int end, int size, int ID)
{

NULLArea b;
b.begin = begin;
b.end = end;
b.size = size;
b.ID = ID;
return b;
)
void ShowAllsubAreaNode ()
{
cout << "HECHHAAFERW T "<<endl;
if (s.size() == 0) {
cout << "tip: HEHEFHE"<<endl;
cout << "FrahhkAe";
cout << "&IEHHEA" << MAX - 1 << endl;
return;
)
cout <<setw(6)<< "begin"<<setw (6)<< "end" <<setw (6) << "size" << setw (6) << "ID" << setw (6) << endl;
for each (subAreaNode a in s)
{
cout << setw (6) << a.addr << setw (6) <<a.end << setw (6) << a.size<< setw (6) << a.taskId <<endl;
)
)
void ShowAllNullArea ()
{
cout << "FNHNFHRRE (IDREH PDBIRKIIFHES]) "<<endl;
if (n.size () == 0)
{
cout << "WHEFLERXEL! ";
return;
)
cout << setw (6) << "begin" << setw (6) << "end" << setw (6) << "size" << setw (6) << "ID"<<endl;
for each (NULLArea a in n )
{
cout << setw (6) << a.begin << setw (6) << a.end << setw (6) << a.size << setw (6) << a.ID <<endl ;
)

}
void loadNullArea ()



{

n.clear ();
int number = 1;

int c, i;
for( i=0;i<MAX;i++)
{
if(SIZE[i]==0)
{
for (c = i; c < MAX; c++)
{
if (SIZE[c] == 1)
{
n.push_back (setNULLarea(i,c-1,c-i,number));
number-++;
i=c;
break;
}
if ((c == MAX - 1) && (SIZE[c] == 0))
{
n.push_back (setNULLarea (i, ¢ - 1, ¢ - i, number));
number++;
return;
}
}
}
¥
}
bool cleanAREA (string taskID)
{
list<subAreaNode>::iterator itor;
for (itor = s.begin (); itor != s.end ();itor++)
{
if (itor->taskId == taskID)
{
for (int i = itor->addr; i < itor->addr+itor->size; i++)
{
SIZE[i] = @;
¥

itor = s.erase (itor);
return true;

}
}
if(s.end()->taskId==taskID)
{
for(int i=s.end()->addr;i<s.end()->size;i++)
{
SIZE[i] = ©;
}

s.erase (s.end ());
return true;
}
return false;
}
subAreaNode searchAreaNode (int addr, int size)
{
subAreaNode a;
ostringstream ss;
string taskID;



Ss << Fitstring << Fitcount;
Fitcount++;
taskID = ss.str ();
for (int i = addr; i < size + addr; i++)
{
SIZE[i] = 1;

¥

a.addr = addr;

a.size = size;

a.taskId =taskID;

a.end = addr + size - 1;

return a;
}
bool searchNullArea (int a)
{
list<NULLArea>::iterator itor;
for (itor = n.begin (); itor != n.end (); ++itor)
{
if (itor->size >= a)
{
for (int i = itor->begin; i < itor->begin + a; i++)
{
SIZE[i] = 1;
}

s.push_back (searchAreaNode (itor->begin, a));
itor->begin = itor->begin + a;

itor->size = itor->size - a;

return true;

}
}
return false;
}
bool searchNullArea (int a,int &number)//HAnextfitE K REL
{
list<NULLArea>::iterator itor;
for (itor = n.begin (); itor != n.end (); ++itor)
{
if (itor->size >= a)
{
for (int i = itor->begin; i < itor->begin + a; i++)
{
SIZE[i] = 1;
}

number= itor->ID;

s.push_back (searchAreaNode (itor->begin, a));
itor->begin = itor->begin + aj;

itor->size = itor->size - a;

return true;

}

}

return false;
}
void sortforNextFit (int &number)
{

while (number!=n.begin()->ID)

{

n.push_back (n.front());
n.pop_front ();

}
!



void firstFit ()

{

cout << "------------ First Fit------------------ " << endl;
while (1)

{

loadNullArea ();

ShowAllsubAreaNode ();

cout << "AEETFTAMZRAFEXERNT" << endl;
ShowAllNullArea ();

int a,b;

cout << "ERAELSEHMBETEE" << endl;
cin >> a;

bool c;

c= searchNullArea (a);

if (c == true) cout << "AERI";

else cout << "ArERRM, BARHAZME! “;
cout << "HEIEHFXRWMT" << endl;
ShowAllNullArea ();

cout << "REGLSL 0B H H AR LE";

cin >> b;
if (b == @) break;
}
cout << "BHFirst Fit! " << endl;
}
void bestFit ()
{
cout << Me-------ooooo- Best Fit----------------- " << endl;
while (1)
{

loadNullArea ();
ShowAllsubAreaNode ();
n.sort (comp_BestFit);
cout << "AECRIFTAHBIZRANFZXERRULT" << endl;
ShowAllNullArea ();
int a, b;
cout << "EFMAESEAHEEZR" << endl;
cin >> a;
bool c;
¢ = searchNullArea (a);
if (c == true) cout << "AERIN";
else cout << "AECRI, BHERHZEMRE! ";
cout << "HEIESXRWMT" << endl;
ShowAllNullArea ();
cout << "REHSEHEIERMANORH R MELE";
cin >> b;
if (b == @) break;
}
cout << "iBHBest Fit! " << endl;
}
void worstFit ()
{
cout << "-------------- Worst Fit---------------- " << endl;
while (1)
{
loadNullArea ();
ShowAllsubAreaNode ();
n.sort (comp_WorstFit);
cout << "ZERFTAMNZERAFEXBELT" << endl;
ShowAllNullArea ();



int a, b;

cout << "FWAZESEMMEEZE" << endl;
cin >> a;

bool c;

¢ = searchNullArea (a);

if (c == true) cout << "SHERI";

else cout << "ArECRM, BAWHZME! "
cout << "HEIEHFXRWMT" << endl;
ShowAllNullArea ();

cout << "REBYLESE FEHNCE H M4k ;
cin >> b;

if (b == @) break;

}

cout << "iBHWorst Fit! " << endl;

}
void nextFit ()

{
cout << M-------------- next Fit---------------- " << endl;
int number=1;
int count;
while (1)
{
loadNullArea ();
count = n.size ();
if (number > count) {
number = 1;
}
sortforNextFit(number);
ShowAllsubAreaNode ();
COUt << Mmmmmmmm e - " << endl;
cout << "R\ABEFRERERBEERXME" << number << "HIFIHIH"<<endl;
cout << "AECRIFTAZRANFZXERUWT" << endl;
ShowAllNullArea ();
int a, b;
cout << "EFMAZESIMAHEEZR" << endl;
cin >> a;
bool c;
¢ = searchNullArea (a,number);
number++;
if (c == true) {
if (number > count){
number = 1;
}
cout << "ZEHII, TRESME"<<number<<"HRIFIHER";
}
else cout << "ZHEERM, BETHTNE! ";
cout << "HEIESXRMT" << endl;
ShowAllNullArea ();
cout << "REHESEIIEMNCER KA E 4" ;
cin >> b;
if (b == @)
{
int d;
cout << "EE MR BHNext Fit TRIWESMNIFIE.";
cout << "HiEBHIEHRBNQEMNE MR HME Lk ";
cin >> d;
if (d == @) break;
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cout << "iBHNext Fit! " << endl;

}

int main ()

{

cleansize ();

while (1)

{

loadNullArea ();

int a;

system ("cls");

cout << "EMIATERHTEEEFEERTIERIEN"
"1.ABEEAFE\N" "2 ERAF\N""3.First Fit\n""4.Next

cout << "iEHIA: ";

cin >> a;
if (a == 1)
{

ShowAllsubAreaNode();
if (n.size () != @)
{
int addr, size;
string taskId;
cout << "FERMABREIT AL (SN -1EBRE) "
cin >> addr;
if (addr == -1) continue;
cout << "IBEINHEKRD:";
cin >> size;
cout << "FMAELES (EAFERFItERNTFL):";
cin >> taskId;
s.push_back (setsize (addr, size, taskId));
loadNullArea ();
cout << "AECEI"<<endl;
}
else cout << "ERHAEETE! " << endl;
system ("pause");
¥
if(a==2)

ShowAllsubAreaNode ();

string taskId;

cout << "HRAELS (BN -1EHERE):";
cin >> taskId;

if (taskId == "-1") continue;
cleanAREA (taskId);

system ("pause");

}

if (a == 3) {

firstFit ();

system ("pause");

}

if(a==4){

nextFit ();

system ("pause");

}

if(a==5){

bestFit ();

system ("pause");
1

Fit\n""5.Best

Fir\n""6.Worst Fit\n""7.clean size(MHi4}
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if(a==6){

worstFit ();

system ("pause");

}

if (a ==7) {

int a7;cout << "FHIAMBRZ 2EANOMBR\nIBEHIAN:";cin >> a7;
if (a7 != @) continue;
s.clear ();

n.clear ();

cleansize ();

Fitcount = 0;

cout << "VERRERIN";

system ("pause");

if (a == 8)

{

int num = 9;
for (int i = @; i < MAX; i++)

cout << SIZE[i];
for (int i = @; i < MAX; i++)
{

if (SIZE[i] == 1) {

num++;

}

}

cout << num << endl;
system ("pause");

}
if (a == 9) {
exit (9);
system ("pause");
}
}

return 0;
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